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11 (c)  
 

In fact, Amy decides to put her 
first cross into a corner square. 
 

What does this mean about the 
probability that she will put her 
first cross in square F6? 
 

Tick a box.  
 

  It is smaller than the 
answer to part (b) 

  

  It is greater than the 
answer to part (b) 

  

  It is the same as the 
answer to part (b) 

  
Give a reason for your answer.   
[1 mark]  

  

  

  

  

 
 

4 
 

[Turn over] 
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12   
 

A dolphin and a whale are drawn 
to scale. 

 

 
   The actual length of the dolphin is 

3 metres. 
 
Estimate the actual length of the 
whale. 
 
You MUST show your working.   
[2 marks] 

  

  

  

  

  

Whale Dolphin 
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Answer 

 

metres 
 
 
[Turn over]  
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13 (a)  
 

Work out the area of this triangle. 
 

The diagram is not drawn 
accurately. 
 

 
 

[2 marks] 
  

  

  

  

 
Answer  cm2 

 




